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26. Erom the given alternagives select the
- word which can be fqnqﬂti'lgg_ihg the ™
letters given in the word.
PREPARATION
(A) PAMPER (B) REPEAT
{C). PARTFTION .. (D). PARROT .

-If _GLOSSORY! . is - coded. as
07533562 and ‘GEOGRAPHY? =
915968402, then ‘GEOLOGY® can
be coded as 3

(A) 915692

(©) 9057592

27,

By 9157502

i § -'NEURD’IIC* can be swritten ga
TICRONEU®  then how  can
PSYCHOTIC® be writter 2
(A) TICOCHPSY: |
(B). TICCHOPSY

(C) TICCOHPSY
- (D) TICHCORSY - = -

£

Somg letteg are given below in the
first line and numbers are  given
below them in the -secong - _line, .
Numbefs- are the codes for the
alphabets and vice-versa, Choose the
coreet number-code for fhe given set
of alphabets, = o
CWEAZXJITYKYL
3% 5. 7.4.8 1

30, - From the given alternatives select the

.

word ‘which cannot be foriied 0§ing
the letters of the given weird,
INTERVENTION - .
(A) ENTER
(B) INTENTION

" (C) INVENTION -
(D). ENTERTAIN -

Directions : T Question Nos, 31 & 32,
select the missing nupibier from the given

responses, - '
3. 81 36.235 @ .
4% - 100 36 '
9 64 16
133 200 9

i (A) 107

v (BY:: 77

©..27 D} 50 .
32. 2 24 43 |

3.9 27 :

4 7 40 -

(A).10 (B) Iﬁ"'{CJ- 12 (M 52

Difections : In Question Nos. 33 & 34 -
SOME equations are soived arrthe basis of a
Certain System.-Find-the €oIrect answer for
the unsolved equation on that basjs,

33, If 2463=36angd

1

: -55_,5%.;:3[],.(]1&11__
6732=97
(A) 32 ®B) 36 () 34 (D} 39

| - 6 M. 4x6x9 =694, 5x3x2 =25
VWECLZ . Gomsy o+ ExENG. L
A 198364 @) 198264 (A) 729 (B) 872
©):198354 @) 1972354 N (C). 827 @) 279
SPACEROR ROLAH WORK '
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41 “Tn 60 fafiilics 30% of ‘the farilies ™ 45. “Choose the Zoriect alternative from the

“Yown a car each’ 50% of the
¥ remaibing Tamily 6wri'a motor cycle
% edehi. “Balance ‘of - families - oivg o
 bicycle -each,” How many fainilies
- own bityele ? Lo

(A) 12 @By2r (C) 18 (Y

42
42. In a gﬁf};eﬁng seven men

t

iJ'E!l'EHIE

-Sithing in a-row. JG- s sitting left to ‘B
but-on.the right 164D, *A’ is sitling

right to ‘B’. *F i sitting right 1o ‘B’
but left to *D*. “H" is sitring Jef; to ‘B,
Firi the person sitting in meﬁmiddle.
T C®D OE B F
43; Select the: related figure from the
given alternatives :

'Quevsﬁq:_l _Fjgurés: -
s Lol FRVV BT

AHSWE]‘EIE'!P‘ES = G

| -__gm ® Aoy O

4. Find the odd figrs from the given
alternatives .

@ D @

© | © \

. given.ones that wilkcomplete:the series.

. - Question Figures :

T el [

-

-] ] | i

A} @) .. (© D}

46, Select the ﬁlissing number from the
EIVEN responses. -

A2

34 10
_ L e | L,
(A) 2 (B) 52 (C) 66 (D) 28
47. HMentify' the diagrasi that best
Tpresents the  relationship among
Classes given helow : &
Mammal, Dog and Bat

@ (9o (
(©) o) 00"
48. Which answer figure will compiete
the pattern in the question figure 7,
uestion Figure ;

I
B
3
-‘
galn

Té

@

SPACE FOR ROUGH WO

CcG2013 "
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© o '

for [ &
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4%, . A piece.of paper is folded and cut/ .

punched as shown below in the

question figures. From the given
answer figures, indicate hove it will

appeart whett opened 7
. Questicn Figures :
. A |
5 "_ -\... o -Lh.
- Answer Floures s T
oc |[|¥Y H||rveodi|roed
v o o A B ¥ Yo
s 4 e & Ty Dh 49
6o |{» 4||poca||boog

(A) ® (€ O

50. From the given answer figures, select
the one in whichi the question ﬁgure
‘g hiddenfembedded

Ques _ tmnFlgur‘e* '

Answer Figures ; _

(R[5
@ ® © O
FOR VISUALLY HANDICAPPED

CANDIDATES ONLY.

43. Find out the wrong number in the given
series from the given alternatives:
196, 169, 144, 121, 101 - - -
(A) lﬂl (B} 121 (C] 169 (D) 1'-3'6

44, A frog s at the hottom of a 20 feet

46,

47,

48.

49,

(A) 2

. If T2 means +, ‘E]’- means ‘x0t

‘) nieans =, ‘A’ mesns “=', then

15El§|34015ﬁ3-'?' |

{A) .12 (B) 16 (C) 28 (D) 33

In a peculiar mathematical operation,
before any operations are dote, the
numbers  are  changed as, per
following rule -

1,35, 7,.9—>3changed o 2

2,4,6,8——>changedtc 0

{—— changed o 1

Solve the following equation :
4?92-1—6?85 4071 -968 =17

{A) 122 (B) 100 (Cy 2i1(D) 200
Anil is fifteenth from both ends of a
row of boys. How many boys are
there in therow 7

A5 (B) 16 (C) 31] (D) 29

“3th
chEdJﬂEIEﬂGEbETWEﬁIIS and:_,:

_of a mimber is 6, then-fhe Immber is

(A) 240. (B): 120
© 96 ®) 144

In the following number? series, how
many 9s"are followed by an -odd
number and. preceded by an'-"—aven
namnber 7
4?138916943954329?’1954821495ITE.
(B) 3

16 D) -3

50, How many Tuesdays are pﬂssﬂ:rle if
ell. Ea-:h day he jumps 3 ‘Teet and
3 s back tw}é Ail ;hﬂq[ rate, when - the last day of the month (exc!ﬁdmg
'will the frog reach the top of the well ? February) is Wednesday ? i
(A) 17 Day (B).. 18" Day (Ay 3 By 4
(S Day (B) 21% Day ¢y 3 (D). 6
SPACE FOR ROUGH WORK
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PART -II °

ENGLISH LANGUAGE

Directions ; In Qucsﬁﬂn'ﬁgs. 51 to 58,
you have brief’ passage with § guestions
following - the passage. Read. the passage

carefully and cheose the, best answer to
each question cui of the four altemanves "

and mark it by E}Iackenmg the appmpnate
oval (@) in the Answer SheeL '

Bringing up the baby is now =2 science
and fine ap ! Most of the matemal
grandparents would -agree with this

statement. My mother lost fifteen kilos in

six months when my-son was borr and [
gained that as much -Both ways it was
because of fhe anxiety and shared
respnnmbmty M:,- cﬂlteagues welcome
retifément when ‘thiir daughter is re.ad;-,r to
. deliver or had just delivered. They most
ofteni-befriend young experienced mothers
and spr:ud long counselling sessions . with
them collecting tlps on how fo. tackle a
CI'ISIS e : : _ _

Itis a 'funny s:ight to see grey haired
women browse "Bririging up Baby”books
at the local book store. One tends to think
what they did with their own off springs.
Ask-them and pat comes the reply “it was
so easy. then. They grew up on their own',

The mother may wear many hats at the

same time. But to Her'or her parents,’ ‘the
mind'boggling thing for-the first feiv years
‘is diaper changes, circadian rhythm and
contimial feeding. At home- social ‘life is

taboo, Phone calls give cause for iritation,..

music becomes noise, friends and relatives
become total strangers, the domestic help a
spirit of mercy and the pediatrician a fairy
godmother. Raising a kid is skin to a
guerilla warfare and it you hear 2 woman
say that her baby *is beautiful and perfect
and an angel all the time’ theu she is the
grandma.

CG2013

14

~, ©

B HE TR

51, *To wear many hats’ méins
.+ (A) Wear helmet
. (B) "Wear head gear
{C) ‘Dohdirstyling . g
(D) - Undﬂrtake much wnrk

52, Why i is s-amal lifg taboo st hnme ?
(A) Babies are demianding. -
(B) Babies donot l.lkc guests,
- {C). Babies hate parues '
(D) Babies prefer to &0 out. Lhan
stay at hume :
is difficult for
parents ? T
~{4) Rmsmg graﬂdcmldmu 5
:2(B} . Peeding chiildten
| (C) Giving bizth tngraudchildten .
(D) Bringing up babies |

» What maternal

54. “How did the mother ke thie daughl:er _

" ghiare the same anxiety 7
{A} Both were uneas}' with the new
born ¢
(BY ‘Both fﬂafed bables
(C)- Both -were concernad shout
g rﬂlﬁmHﬂiE baby -
(IX)-:Both - were: nervous
shared responsibility

-about

33, _Wh}r do female mﬂeagues welcome

_retirement 7
~ {A} They getlot of free hm.:
(B) They become free to attend to
household duties.
They can be of help to their
daughters and their offspring.
(I} They can cock good food for
their - childten = and
geandchildrer.

005 LOQ:6:-
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I, ,

Directions : In Question”Nos. 56 to 60, 62. -Maﬁ},r of us believe that science is
some parts of the seiitences have errors and - something modem “the
some are ¢orrect. Find out which part of a - truth is otherwise, '
sentence has an error and blacken the oval (A) unless (B) though(C) if  (D)asif
. (@) corresponding o the appropriate 63— my food and my repose
T letter {A B, C] If 2 sentence is free from L~ were salted. i
! EITOIS,” hlacken the oval cnrraspnndmg o (A): - None of (B) .Allof
(D)} in "the ﬁnswer Sheat. N Enth | (D) Bothof
M}f tea-:h:r did not object . 3 T -
/ i e i T Pak]sta.u in the finals.
| to me using the calculater. . No errer. | )
; 0 ’ D) (A) “takes after - (B) looksafter’
The river _has overflown | its banks, © taken back "/)*”131{‘5 on
\,/5?/ (A) ®. o 65 tiepherd .1 king aftef th
_ e ep erd was looking aftef the
_ _"m__Nu[Er;nr. /Th of sheép.
o (A) erew (Blgang (C) fleet © flock
-y'l'he?il;mpal;stmwd?és} ecture | /),g-aﬁ
i No er Direchuns In Question Nps 6 an-:l 67,
with 4 pessimistic note. / O eITor. | out of the four ﬂlternachs, ch{;-use the one
A€} - ' P which best expresses the meaning of the
5, ~Rohan hadbeen playing.,. given word and ma:k it ini the' Answer Sheet.
, s ; Jf(h) wn o HE : et s
Z " for his.olub for fificen years, ; .. ﬁﬁ, Staun-::h | |
| - 18 - o () Loyal (B) Benign
| ’ when _]115 E:lhﬂw ‘oot injured. ...,Nr::- £ITOL. (C) Gmd (D) Wise .. i
0 None of ; the twins ; =8 67. WAC]GUS |
-7 (A) (B 5 (A). Lively . . (B) Venomous __
" " offered fo Help mﬂ_j H.D EI‘I‘DI‘ . (C) Glear - (D) Supérior ?
(Cy Ty L G o T ;
S : " Directions : In Question Nos. 68 and 69,
c e G S dideusy hoose the word opposite in meaning to the i
; Directions : In Question Nos. 61 to 65, o S ! : :
i sentenices are piven with-hlanks-to befilled , &S wc?l-.d gﬂd:n_':iark L LhENHHSﬂT-’EI Ehﬂﬂt'. ’ :
in with an appropriate word(s).  Four 68. Spife ;
- alternatives are suggested for each question. : :
: - . A) Spl - (B} ¥ z
) Choose. the correct -altermative: out of the (_ ) s ple.en ( ].- Em_mf ,
¢ fow and indicate it by:blackening the L WD) sttechon
| appmpnﬂtf: oval (@l) in the Answer Sheet.
| 61. The bird’s ‘ voice was speaking 03 -Modesty, S | ;
E all lymg vnder stars: - (A) HG“EEW - {B)y  Vanity
(Ayto  (Byfor (Cyat: (D)in . (C) Originality (D) Variety

005 LQ6: _ R . 15 C& 2013




a2
-
0
.-i.
=
-
=
-
=
-
=
-
=
-
-
-
]
=
=
-
=
I
-
-
b
=

smng purkb ddun ol o v g gguye

Directions .: In Question Nos. 70 and 71,
four, words are given in each question, out
of which cnly one word.is correctly spelt.
Find the correctly speft word and mark
your answer in the Answer Sheet,

df/[ﬁs} Sovenir

(C) ::Suvehir

{B} Souvenir

ﬂy/.Guvérpinr

(B) Adolascent

- (yﬁdﬂnﬂcent '

Directions : In Question Nos. 72 to 74,
four  alternatives are given for the
Idicm/Phrase underlined in the sentence.
Choose - the altemnative which best .
expresses the meaning of the Idiom/Phrass
and mark it in the Answer Sheet. _
Wﬂu want to solve the problem for ever
you must 2ke the bult by the homs. ~
' .{.A}_. pull the bull’s horps. |
B ‘Face a difficulty or danger boldly.
{C} nmawayﬁ'nmadiﬂicultynrdangﬁr

(D) face a difficulty or dangér’
“tonfidently,

Adalnéent
{C) Adolescent

=

\/RaJlb wiasliodl fig llands of the matter
long ago.
- {A} "~ overcame the d]ff' culties

- (B) _refused to accept respnnﬂhmty for
_ took the respnnﬁlhlht}' '
' 1(D] reﬁjsed to change the dﬂcimﬂn )

74 All the neighbpurs save hér the cold
shonlder because she ill-treated her
daughter-in-law. |

. (A) showed : intentional
' . vnfriendliness to her company
(B} felt ber shoulder was cold.
(C) showed dislike for her
COmpany. S
(D) showed liking for her company.

CG 2013
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Directions ; In Question Nos. 75 10 77, out
of the four alterpatives choose the. one
which can be substituted fﬂr the given
wnrdsfsentem:e

‘J’S. _A person who runs awa}' from _]USEIEE-
- or the [aw

"(A) Refugee (B} Mart_?r

y/l?ugiﬁve © (D) Recluse

A place where bees are kept

 {A) Aviary (B) Apiary
& Cranary (D) Dispensary

_~77. A hatet of women
(A) Bigamist
,fB}”'MSt::g}mist
(C)" Misanthrope
(D) Polygynist

Directions : In Question Nos. 78 and 79, a
part of the sentence is:underlined, Below
are given alternatives to thé underlined part
at {A) (B), (C) which may improve the
sentence, Choose the corfect alterative. In
caseé no: improvement is needed yours
answer is (D). Mark your answer in the
Answer Sheet.

78 ¢ expert was very mte. tng in
t]um:andldat& ; :

(A) was having interest

\JﬁB{ was very interested

{CYy is havmg {nterest -
(D) no m]pmve-ment h

79" The cnmmal was nrdarcd to- be
hanged to death.
- {155} hurig to death
() . hanged €ill death
(C) bung till death
(D) no improvement -

MWaLO6
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Directions:: In Question Nos. 80 to 84, a
senience has been given in Active/Passive

Veice. Qut of the four altematives suggested,
select the one which best expresses the same

sentence in Passive/ Active Voice and mark

your answer in'the Answer Shest. * "~

An i-pod has béen buught hy
Arubhayv's mother.

(A) Anubhiav's  roother was

""" 'engaged in buying an i -pod.

(B} Anubhav's mmher had h-:-ught'
an -pod, -

{C) Anubhav’s lIlEII’.hE]‘ has hﬂ&ﬂ
buying an i-pod.
Anubhav’s mother- has hﬂught
an i-pod.

yqu care of his dog. 1
(A) Hisdog Wﬂgtﬂkﬁﬂ care by me.

(B) His dog is taken care by me.
(C)™ His dﬂg is taken care of by me.
y/édug was. taken care of by e,
82. ‘- The wWashierman will return the
* glothes’in the evening.
{AJ The rclothes will ‘have to be
retirned by the waskerman in
“o . the evening, ;
*“(B)  Theclothes will'bé returned by
the washermar in:the evening.

: {C) The clothes will retura by the

o washerman in the evening.
(D} Inthe evening the clothes will have
been retumed by the washerman,

83. He picked up the telephone and
* dialled the police number.

(A} The telephone was being
picked up and the police
number dialled. - |

(B): The telephone was picked up

- and the police number dialled.
"{C} The telephone had been picked
up and the police niumber dialled.

(I}~ The telephone has'been picked

*  up ardd the police number dislied.

S5 LG
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84. Some girlk were clﬂmung their
dormitories.
. (A) The dormitories were cieaned
by some girls.
(B) The dommitories will have been
cleaned by some girls.
(C) The ‘dormitories were being
¢leaned by some girls.

(D) The dormitories are being

cledned by some girls.

Directions : In Question Nos. 85 to 89, a
sentence has been given in Direct/Indirect.
Qut of the four aliernatives suggested,
select the one which best expresses the
same sentence in Indirect/Tirect and mark
your answer in the Answer Sheet.

85. He proposed to his companions that
they should not miss that charce to
see the last show.

(A} He said to his companions, ‘Let
" Us not to miss the chance to see
the last show,’

(B) He said tc his companions, ‘Let
us not miss that -:hancr:, to see
the last show.' |

(C) He said to i c.nmpaujuns,
'"We should not miss  that

" chance to see the last show.”

(D) He said to his companions, ‘Let
us ool miss the chance to see
the last show.,’

.{_'I.-.

86. He swore in the name of God that he
was ignorant of the matter.

(A)- He said, "I'm ignorant by God !

(B} He declared, “God knows I was
ignorant of the matter.*”

{C)} He said, "By God ! I'm
; ignorant of the matter.”

(D) - He satd he was ignorant of God,

CG 2013
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§7. ‘Bring me an elephant with one
golden tusk” the witch told her
NAniorn.

{A) The witch requested her minion
to bring her an. glephant - with
one golden fusk.

(B) The witch told her minion {o
bring her the elephant with one
golden tusk. .

() The witch ardered her minion
to bring her an elephant with
one golden:tusk. '

(D) The witch advised her minion

" 1o bring her an elephant with
one gotden tusk. .

#

g8. "How much will you pay for this

cow 7 Jack asked the strange mail.

(A) Jack asked the strange man
how much he would pay for
thatcow. °

(B) Jack asked the sirange man

*+. hpw much would he pay for
that cow.

{C) Jack asked the sirange Iman
tow much would he pay for
this cow, |

(D) Jack asked the strange men
how much he will pay for that
cow. '

89, The teacher said, “Water boils at 100°C.”
(A) The teacher told water boiled at
100 °C.
(B) The teacher said that water
boiled at 100 °C,
(C) The teacher. gatd that water
boils at 100 °C.
() The tea-:hér told that waler
boiled at 100 °C.

CG 2613

Directions ¢ In Question Mos. 90 to 95, the
{* and the last sentences/parts of the
passage/sentence are nurmbered 1 and 6.
The rest of the passage/sentence ‘s split
into four parts and named P, Q, R and 5.
These four parts are not given in their |

proper ordet. Read the sentence and find

out which of ihe four combinations 15
cormreci. Then find the correct answox and
indicate it by blackening the. appropriate
oval (@) in the Answer Sheet.

gp, 1. AIDS is an incurable disease
which affects the resistance
power of the body.
P. People succumb within two |
‘years and ofien die inspite of
any freatment. .
Q. AIDS is caused by a virus
pamed HIV.
R. In such & condition the body is
totally defenseless against all
kinds of infection. 2
S, HIV destroys the white blood celisk:]
which fight the bacterial virus.
6. Thorough research is going on § |

throughout the world for the ¥

prevention and cure of AIDS,

(A) QFRS {B) QSRP
{C} RQSP (D) SPOR
91, 1. Six robbers entered @
Nationalised bank today at
9.50 a.n.
P - One group kept an eye on the
Customers. -
(. The assistani manager WAas
- forced to unlock the vault.
R. The other group held the
Manager at gun point.
g, They cut off the wlephone lines
and deactivated the burglar alarm.
6. The whole operation was Over
in 20 minutes.
(A} SPRQ (B)- PSRQ
(C) PQSR (D) QPRS
s LQo6 §
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92.

[

(A)
{B}
(©

Oy

93 L

4o

2 O

4)
®)
(©

).

o4.

!
i
5 Q-
R.

5

6.
ey
(B)
©)
D)

00SLQ 6

Books are the best company,

‘Through books we even- see

them as if they are really alive.

They also. give us the. best:

society.

We haar.f,{rh_at. such grg:_ar_men
said or did.

_They help us in establishing
" cofitact with ﬂ‘l&ﬂ}," great men.

As we reid, we share great

_ tHoughts with preat men, -

PQSR
QRSP

QSRP
SPQR

One of the greatest advances
has -besn the invention of
compulers

in modern technnlﬂg}r

in_industry, administration and
educaut:-u, _

which arﬁ widely used

and in almost EVETY sphere of

human hfr:
PORS
QPSR
QPRS-
SPOR

The :imm_ml_: of {ix}fgi:n _

to meet the increasing demands
due ~ to  indiscriminate
deforestation -

is being dirninished day by day

which 15 released from the 99, (A} intothe songs

plant kingdom
of the human pﬂpulau-:m

RQSP
PSRQ
RPQS
SROP

. 95, L

A patient accusing 4 doctor

P. . of malpractice wﬂl find it
- difficult
Q. without
testimony

R. toprove dimage
S.  oreven file acase in the court
6.  about proper medical procedures

- (A) RPOS 1
(B) SQPR
(C) .QRPS
(L) PRSQ

Directions : In Question Nos. 96 to 100, in

another doctor’s

" the foliowing passage scme of the words

have . been left out.. Read the passage
cayefully and choose the correct answer to
each question out of the four alternatives
and fill in the bianks ;

In‘thése days:0f cable television the radic has
again become popular. As in the days before
the __ 96 . of television, people switch on
their radios first thing in the morning. FM
channels of every _ 97  can be heard
broadcasting news and soogs  of every

_ 98 . More than anything else, people
prefer to listen _ 99 which biing a
refreshing change to the _100 _ routine of

- their everyday lives,
96. (A) advent - | (B). Appedrance
(C) bitth D) genesis
7. {(A) range {B} variety
(C)  frequency (D) category
98. (A} state (B) language

(C) descripion {D) . kind

{(B) {rom the songs

(C) the songs
{D} o the sonps
100, (A) packed (B) monotonous
{C)} exciting (D} light
CG2013-




PART-1III
. QUANTITATIVE APTITUDE -~

101. The total mimber of pnme factors in
(25)10 x 2% x [zﬁ}ﬁ
. (A) 1000 (B) 12.'3' {C} .15'3 D) 140

ﬂﬁﬁixﬂﬁﬂ?xzﬂﬁ
102. The value of nmslmmsxw

(A) 3825 B) 3845
© 95 @ 5

11]3; In a division sum, the dmsn::-r 18 lﬂ
times the quunem and-5 times thé

. Yemainder. If the remmndﬂr 15 4(1

then the dividend is
g ! {m 240 :I:ﬂz 440 (G m-m}.m

7 AP 4 2

1 __2'__.
nf5 is .

] 2 . .3 -
wi @ o} o3

105. Let:t si\r

e r

106. In two blends of mixed tea, the ratios
of Darjeeling and Assani (ea are 4:7
. and 2 : 5 The fatio in which these
two blends shuuld be mixed to get
_the ratio of Daqeehng and Assam tea

. inthe new mixfee as 6 138

(AY 2:7 - (By 5:13
({C) 4:13

@ 22:35

107, The vaiue of

wo @4 ©3 O

108. Two nunibars afe l'EEpE-Ch"-'E:I}' 25%
and 40% less than a thifd number.
What percetit -:sf the first is the
second 7
(Ay60 (B)70 (GHJD {D)RO

109. A reduction of 20% in the price of
sugar enables Mr. Bhadra to. bly an
extra 5 kg of it for T 320. The

The value. of x is gngl[}ﬂl rate of sugar is

..(_a:-.s.ﬁw’ ®) 0 (A) Tlzperkg B ¢15 per’kg

_, (::1,:.% - ) 5 © Rlgperks (D) T20perkg
S SPAEEFURRDUGHWDRK

CGa2013
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ot - I3

. RrATETE AT

101. @5 x {24}?*5 % (26)25 T SR TUIE-
- gt =i e e R T =
(4) 1000 () 190 (©) £50 {D} 140

”_3'_2' 0,0081 X 0025 17
(A) 3825 -« (B) 3845
{r:}' 925 ®F 3045

103. ﬁﬂﬁ?ﬂ?ﬁtﬁ‘mﬁﬁlﬂm HFHE

T 10 T SR SR B 5 TAE
' m@wﬂﬁwﬂﬂwmﬁ GRS
g R 7 |

(A) 240 (BY440 .[CHWU-(D}-WG;]-

'14 24__3;"
104, 5?2F [3 5) (3 5) 4

= Hit ferereil € 7 .
) % ®E ©F O

lﬂsqﬂﬂ'ﬁ[flx—5+_\r 5\’—

0.635 X 0.0720 x 28. ﬁﬁmﬁ ,E?

106. ﬁmﬂﬁﬁﬁﬁmﬁi’ﬁﬁﬂﬁm
Y B 9 T AT TG 40 7T
21 5% | AR, 39 <Al e 9
ﬂﬁﬂrmﬁmﬁﬁqﬁmﬂﬁqﬁﬁ
seifenT aur 399 9 =/ %1 WayE, TU
frEor A6 133‘:%‘? |
(A]Z? T ®) 5:13

© 4:13 D) 22:35

%15
107. B—8X 7 THARY

Wo (B4 (€3 (D)2

108, = WA, v ARl e F e 25%
At 4g% w.E | BT, T W,
“igedt i e WRmm 6 7
(AY60 (BY70 (C)40 (D)0
109. <t = Hwe % 20% FA 8 w0 W/ A

¥ 320§ 5 T <) s WS oR
& | e, A e e el g 2

| *;Tj'%ﬁ"f.tﬁﬂﬁﬁwm“ {g}_zlzqﬁﬁﬁm

(A3 -5+\!§ il B (B) ¥ 159t T6r

g (@ T 16w e

© 3 o 5 D) 205 Fem
" S

005LO6 -
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110,45 m HEpel @ oiEd o’ @ AT n
sl T m? |, A (m + n) HEl ol
afrad Feam ET ?

(A) % (B) mn
{C) m-n (D} metn
111, T et = ¥ B a0 a9 5 x%
i o O AT A T B ? -
(A) Tx - (B) ¥ 100x
- 00
(C}.?%D- (D} tl—xz—-.

L

112, W2+ 3y 30 Sy =18: 208, WY

e ST B ?

4 2 5
Wi ®F ©3 O

1.5625 % 0.0289 x 72.9 x 64
, AT ?

(MU @24 © 0.024 (D) 2.04

- . 304 % 4.624
113'_,\/ 0.081 x 0.324 x 4.624

114.1.. #uﬁﬁaﬁﬁmﬂﬁmwﬁﬂ?ﬂ
.-aﬁmﬂﬁf‘ﬁ-%n—ﬂﬁmﬁmaﬁwﬁaﬁ-
11 w6t % faw 59 fewg % 124
ey o i i P e ?
(A) 1.1%sm (8) i
€ 09 @) L3t

115.

116.

AB, CoR L 5 2k e
T U WERR ¥ i g &
4 wdE A A A TR 50% g1 T
¥ | weER, o o & ofn ® g WM
¥ 43.200 T &0 @, T I B W e
ferreeT T 2 '

(A) T4200  (B) T4800
© 7200 (D) T8000
2 o T T e Lot S it

oo 65 RediA w85 RREA. W

117.

118.

119,

#r A Ryl fBm ¥ oW W
¥ TR W 6 W T W w e
¥ | TR, N S i T R € 7
(A) 1007 ®) 11548
(C} 125HET (D) 150 =T

% gEFER T T8 l%%mﬁmréam
& | oh S o W € 51.80 Aw R
¥ g, & 39 6% v, e S |
GEG L o\ TG W w0 e
£1?

(A)280 (B)580 (Cy370 (D)450

18 qRE = A O 15 SRR &
fbl TP $ SR € | EER W
v fpat whrea €2

(A) 25% (B)20% (C) 18% {D}y15%

s0% = 50% o wiww @e, T
WRET F gE FEETE?

(A) 100% (B) 75%

(cy 0% - (D 25%
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110. If the average of m numbers is n® and

that of n numbers is mz, then the
average of (m + n) numbers is

(B) mn
(D) m+n

A =

(C) m-n

111. The simple interest at x% for x years
will be ¥ x on a sum of

(A) Tx (B) %100x
1 100
© 2 © T3

112, If2x+3y:3x+5y=18:29, thenf

is equal to

4 2 5
w3 ®3 ©F O3

0.081 X 0.324 x 4.624 .
113. "\ (75625 % 0.0289 x 72.0 x 64 °°
(A} 24 B) 24
©) 0.024 D) 2.04

114. In a particular type of alloy the ratio
of lead to tin is 5 : 6. The amount of

lead should be added to 12.1 kg of
this material to make theratio 1 : 1 is

115. A, B, C enter into a partnership with

o mow i R D
shares 1n ﬂmmnuz.B.j. After 4

months, A increases his share by

50%. If the total profit at the end of

the year was ¥ 43,200, then the B's
share in the profit is

(A) T4200
(€ %7200

(B) 74800
(D) 78,000

116. Two trains, of same length, are
running in parallel tracks in opposite
directions with speed 65 km/hour and
85 km/hour respectively. They cross
each other in 6 seconds, The length
of each train is

(A) 100 metre (B)
(C) 125 metre (D)

115 metre
150 metre

117. A shopkeeper sells an article at a loss
|
of 125%. Had he sold the article for

T 51.80 more, he would have earned
a profit of 6%. The cost price of the
article is

(A) 280 (B) 580 (C) 370 (D)450

118. The cost price of 18 articles is equal
to the selling price of 15 articles. The

gain 13
(A) 25% (B)20% (C) 18% (D)15%

119. Successive discounts of 50% and
50% is equivalent to

(A) llkg (B) 1kg (A) 100% B) 75%
(C) 09kg M) 15kg (C) 50% (D) 25%
SPACE FOR ROUGH WORK
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Iil}. Ifx+:,r+zalﬁ XytryR+ax= 75

xt+dv+z
the_:n S.3z

L ®oe O2

is equal tn
(D)1
121, If thie graphs of 3x - 5y = -8 and

3x + 5y = 32 intersect at the point
- (§, @), then the value of p—q s

w3 ®2 ©1 M0

122, Ifx =_\ﬁ +‘\E and ¥ =_‘sﬁ —'\,Iri then

the value of 8xy(x® + y2) is
@ 166 @ 32
H{C) 482 @): 30

123, 50 persons can do a work in 12 days,
. working ¢ hours/day. 60-petsons can
) do the same work in 8 days, working

.' x hours per day. The value of x is .

(B}'i"‘ €} 5‘ (D)3

-

(A} 15

l"'.'l-

1 ' : 1
124 If.r+%-1and1.r+ =1,thenz +7

i:

-

126. A circle is touching the side BC of
AABC at P.and is also touching AD
and AC produced at @ and R
 respectively. If AQ = 6 cm, then
perimeter of AABC is
(A} 6&m (B) 10cm
(€ 12em ) 18em

127. Ina AABC, £A=80° If BD and CD

are internal bisectors of /B and ZC -

respectively, then the ZBDC is,
(Ay 100° (B} 110°
© 12¢° . Dy 130°

128. The side BC of the tdangle ABC:1s

; prﬂdur:ed 1o El If-AACD = _uzﬂ and . ‘~;

: 3 .
ZABC = £BAC, then the ZABC

- i5equalto
(A 68° (B) - 58°
{C) 43" : (D) 38°

e, S

129. In AABC, X and Y are points on
" sides AB and BC respectively suchk

isequalto hat XY || AC and XY -divides
o oomsnsg . triangular region ABC into two parts
w2 ®3 ©1 © R
' equalmarea*ThenABm cqualtl::
125. If4x—5z=16and xz =12 the value
. 3 - A e ﬂ1+3
of 64x® - 1252° is equal to (A) T3 B} —ZE
(©) 15618 ®) 15620 © ™3 ® Tz
| ' SPACE FGERG‘UGH WORK
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120.

121,

WL @B

ex+y+z=15xy+yz+zx=75
&, A2 sy o 2

! &
©2 -1

A Ix - Sy=-8AMIx+ 5y =32F
vt At = Wy (p, @) W e

: 'ﬁ,?ﬁp-qﬂﬂﬂﬁ-ﬁh—rﬁlm?

122.

123,

- YA 15’_"

124,

A3 @2 ©1 OO
qrx =3+ A2y =328

Tt Sxy(x® + y2) %1 91 foern g 7
(A) 166 B) 32
© 42, . (@) 80

50 =afm, o f59 6 9 T WS =
w12 Rt 4 oy € | 94 =l
60 =2 it fo x o wd e § A
f qu = e | TR x WA
feprT 2 2

B (©F D)

ﬂ?ﬁ‘x+l='-1,y+%=‘ 1,3?,-5ﬁ-z+%

126.
& @1 ¥ 3T AB T AC B WR W
waE O 991 B o @\ s @ F

127,

© 1200

128.

129,

U g, AABC 91 357 BC & PR ¥

I, A AQ = 6 941 &, T AABC
T ORI AT ?

@ e (@ 109

© 129 (D) Isﬂtﬁ

"AABCH, ZA = w%maﬁqﬁun

& £LC F FdwF e sag: BD
&1 CD &, at LBDC R §m 2
(A) 100° ‘®) 110°
m) 13-3*' ke

ﬁ‘iﬂﬂﬂﬂﬂﬂﬁ]ﬁ{:ﬂﬁﬂﬁﬁ?m
™ § |mﬁaﬁgagm = 112° @4t

ZABC = % 3 pAl & #t ZABC

S gyET R 9 e |
. (A) 63° (B) $8°:.(C) 48° {]3133°

AARC # X @ Y, e AR AW BC.

ﬂaraﬁqrﬁﬂiﬁgﬁ‘%x‘f" AC & 3T
XY, Aﬂcfiﬂsﬂqaaﬂ:ﬁmeﬁrﬁ

.4 .
@2 @Y ©1 oo wwﬁﬁm%ﬁﬁlwﬁﬁﬂ
femets ar=C Bt T ? -
125. u’r‘wpﬂz:lﬁamn_uiﬁ it 242 | . AfB43
6453 — 12523 s ST 8 7 (4) —3 ® "3
(A) 15610 By 15616 292 v e3-af2
() 15618 (D)..15620 © 72 ) g
= W - {pmEy rwm
CG 2013
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130, A solid iron sphere of diameter 6 cm
.is melted and:made to a hollow
cylindrical pipe of gxternal diameter
10 cm and of length 4 cm. The width

of the sheef of pipe is

(&) lem (B) 2cm (C) 3om @) dem

131. If the voldimes of a sphere dnd a
‘eylinder of equal radius are same,
. then ratio of the radius and height of

., the cj.r]mderqmllbe. :

(A¥4:3-(B)3:2 (C).E ﬂl{t)}i 3

132, Thal-:ngth cuf two parallel chords of &

circle are 6 cm and 8 cm. If the

. smaller chordis ata, distance of 4 cm

| s “from fhe ‘cenire, the disiance of thie
[ I - " othér chord from the centre is

15/ 3 em. @) §om (©) Aem (D)3 om

133. The arez of an isosceles frapezium is

arirarmgn

%196 cmi® and the heiglit is "H“"nf the

"
-
.=
-
.
- =
o

- L

cnf "the lengtﬁ of I]]E para]lel sides be
4 1, ﬂ_lﬂﬂi the léngth of a dlag-:}_rial is

& NTGem @) i om

(€Y. '\,‘13? om - O 2137 em

134. The medians AD BE aﬂd CF of a
s O triangle ABC are of lqngl;hsl_l_ﬂ cIm,
W & 24-cm aﬁd 30 cm respectively. The

ay ago T (Bj %30
) 1068 o | 12&:-
139, Iithe nee: betwaen an exterior

= sum of its parallel sides. If the ratio

135. The value oF sin1° + sin®3° + §in?5°1

- +511133T”+51n189“’ is
® 2 ® 23,
((3).23. 5 (D} 22— |

136, The mitﬁmum value of {:usf"ﬂ + seczﬂ is
(A)O [ (BYI - (©O2 (D)3

137, 1f 005 8 45068 = 2 (0° < 8 < 0%

then the value of cos 10 0 + sec 118 is
®Wo @1 ©2 O

138, If tli¢ base of a right pyramid is a
mangle of sides 21 cm, 20 cm, 13 cm
and its alfinide ‘is 730 t:m, tﬁén its

“volime (in 3d): wﬁlha

Hﬂglﬂ of a regu!ar polygon of n sides
-and an extericr angle of anocther
regular polygon of:(n + 1) sides is
equal to 5°, then the vallfe of nis.

(A5 (B)6 (C] 7 [D)E

140. Tf the base of a right pﬂsm of 20 cm
' high'is a thombus whnsa dlagnual
are 14 cm and 18% -:.m, ﬂ'lf:h thie

volufiie in ¢rn® of the prism wﬂl"{fe

I aream-::m of the triangle is ¢A) 2520 (B):~ 2250 ¢
| (A)96  (B)192 (C)288 (D)374 {©).. 8520 @) 1250
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130 628 = aE. 0 B LA e )
ST U TR, SRR T T

- mé & e wl = 10, 2. & =R
L g4 B § TR S9 T 5

sy 1 (B 28 @ FE D) 430
131, g TR B aﬁ%qﬁvﬁﬁﬂﬂr TS
SorT % STE UF W §, W 39 {6

aﬁmw%ﬂrﬁﬁmﬂﬁﬁmé‘mi -

{32, TE FAAR maﬂmﬁ#ﬁiaﬂr 8

139, ke i

‘_ f® 2147 30
& R @ W7

13k, e Afic 31 Tt AD, B2
G, CF i 18 S, 24 8 7 30

RIS R o e
sy fopad Wi & 7 |

,

(A)96 (B)192 (C)288 ©)374

Ky [TER

135:

136.

137.
3 cos 108 +sec §10 9 TR R RN 2

138..

sin?1® + sin®3® + Sin25% F .oesenn ¥

2870 4 5in?80° T A T B 2
(A)22 @) 11% (©23 O zzi
c0s%0 + sec™ ] =i wr Tl B 7
Wo . ®1 ©2 D3

eens 04160022 (7505900

o @1 ©2 @O

off e qwerE Trgfs 1 AT 21 i,

20 @rn”r o 13 syt ww g @
o woE S 30 i &, @ IR

R GRCIC R Cick U,

139.

140.

(A)430 BI630 (O {068 () 1260

ot o TR AR T W A T

ST W (0 1) TS AR T
mw%wﬁw'ﬁaﬁ%{5’°€r,ﬁﬁ
LA R AM Y
(A5 (BI6 7 8

o 20 T Fd ot U wwee e

et i, 14 3t 18 3l o

i o W B, W 3 B

Ta,

Hre Tefe S & 2
(A) 2520 (B) 2250 (C) 3520 (D) 1250
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141. The sumt of two,nambers is 528, and - 146, A and B walk from one corner of f
- their HCF 15 33. ng many pairs of rectangular field ‘fe the comer justd
i
Ei‘;htnumb{g; ;"m hTCJI % W diagonally opposite. A walks alongg
A A T b D) . the diagonal, and B walks -along the
142. A, B and C are three taps connected sides, reaching” the finishing pointf
_ loatank. A and B tuge.ther can fill together. If the ratio of the length and¥:
the ‘E‘f':l b 1;'%“? iﬂﬂddﬂfgﬂahg ' breadth of the field is 3 : 4, the ratiof
.can fill it in ;10 how }ani an : - of:thieir speeds i~ | j
tngemﬂf can ﬁll it in ?5 hours. in Ay 3:47 B 4:3
how mauch l;:m& wﬂl o al'-:me can fill | (C} 4:5 Dy 5:7
ﬂlE'r :[ﬂ]].l'[ﬂ"III t - | ;o . =
N . {A} 10 hours ﬂ?] 12 hours Divectlon : Study the following fable andj
a8 (©) 20hours (D) 30hours answer questions 147 and 148§
v A 143“' If sec B — cusec’:'iii = 0, then'the vahie Peroentage of candidates) Total [
i, 4 , of tan 8 +cot 8- s quallfted under discipline DIEIJ;:];:ID[
@0 B (O )2 0 tolel's] B qustinea
% ik . C - ; ; ; i
fii'h 1d4. From the tap uf a tree. of height g % : E | '
} v o 120 m the angl& nf I:IEEIE-ESIIJH of two i | & |2y
: “bioats in the samé Ting with the foot : it il
' F ~ of the tree and on the same side of it 2006|241 40 [ 1900 08 || 78D
“gre ‘45% and 60° respetiively. The s2007]15| 42 |18 )13 ) 12 | 650
_ B - digtance between Iilehﬂats is zms e in 03 e 1_5'[1[]
H = (A) 40 (3 ‘-,[')m N - .iiﬂ]ﬁl =
¥ B) 03B-Hm . 1545116 14| 10 | .60
. . {'C-_:I 12[}{.\.’_ 1}[['[ .' ;ﬂlﬂ :,l'g 5|15 ] & 12 EI{H.] |
_ D) 120 (3-+3m : 2001§18{ 42 [ 14| 12| 14 830
'l - 135: Eﬂ“J’ hi"h)%c}j "'ua{lb +:¢ = 2a)° + 147, The increase in .the number of ]
L, . <G+ a is.gqual to. ... . . . £
W . i l::and;ldates . quahﬁ&d ll[Il:IEl' g
¥ A) lfa—!-b ) (b+c - 2a)(c+a Eh} Engmeenng ﬂ15c1ph11e from 2@09 to £
®) 2ib-20)(+c-29) c+a—2b) * g é
| (€} 3@+b-20)B+c-20){c+a—2b)
@) 3axb-2) @ +c- 2 LAY 95 i
Tcra-2my I P (& . B D) 49 i
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141.

142,
¥ IAﬁﬂTBt{'ﬂi‘ﬂﬁ-Eﬂﬁlﬂﬁﬁﬁﬁﬁ

143.

145.

o el o dm 528 ¥ SRS
T W 33 ¥ RN, W
T & wenst 3 e g o
Wl ®z2 ©3 M4

ﬁ,BaﬂTE?ﬁ#Hﬁﬁﬁﬁi%ﬂa@

maﬁﬁ%,ﬂ.ﬂmc-?ﬂméﬁﬁ-aﬁ?
Aﬁm{:aﬁf?%tia’fﬁﬂrmﬁ% 1
Hﬁﬁﬂﬂ&ﬂﬁﬁﬂ%‘ﬂiﬂ'ﬂﬁﬁ?ﬁﬁm
Sarewtdr
A wE T ® 12 €62
© 0% (D) 30%
ﬂﬁ'smﬂfcnsmﬂ=ﬂ;ﬁ,?ﬁmﬁﬁ+
cot B < HI T € 7

 @o @1 ©- O
144.

120 Hiee 3 T g w0 A I W
ﬁﬁﬁﬁﬁmﬂﬁm:ﬁ.ﬁ%@ﬁ

e @ el ¥ A SO A
45° @ 60° § | SR, T A &
AR E? | -
@, 408\
(B) 40(3V3-DH
o) 120n3-nH
‘(D) 1203 -3
(atb-2P+bro-2aP xeta

) 455
firdgt - Tyer WA W ST T weA 147

146. AT B 0% AT T A T S

ﬁgﬂiﬁmﬁﬁfﬁﬁ#ﬁﬁﬂﬁﬁ%l
S A Feeet % ST S ¥ 991 B
ﬂﬁféﬂﬂ?waﬂ?éﬁﬁﬁgﬁﬁﬁ
o e § 1 TR, A Aw
srard wn digs a3 4 ®, @

(A) 314 (B) | _4':3
D s5:1

| ey 148 % SR SR

figey g weETE 3 S Tt

B T et
{ - BiEIE[® %
“laos]2s| 4019 {08] 08 | 780

soo7lisiaz|1s]|1a| 12 | 650

s008 |20l 45 f20 08| 07 500

J009t15|45116{14] 10 620

sow|iei3s| 15|19 ] 12 900
Joon]is|a2juejrn) W $50

147, g‘ﬁﬁaﬁw ¥ g § 2000 2010 O

00SLQ 6

= 3b)3 R SR R 2 -
A (a+b--20) (b +c-24) (e +a~2D) " 2 st weheawt 5 g #§ fe
Y ' Ha+be20) (b+e-2a) C+a-2D) T 7 |
< 3(a+h-ic}{b+c§—'-ia}{c+a-2h) (A) 28 (B) 30
D):~—3a+ b - 2¢) (b + ¢ ~ 23) _
cfc+a=2b) {C) 46 . (D) 49
i | Tead Fmrwme:
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148. Pt 3 T & A wif SR w

Sre e g # =g o 7
(A) 2006 (B) 2008
(C) 2009 (D) 2010" .

ﬁ%ﬂ:ﬁﬂﬁ@faﬂﬁrmﬁfﬁﬁmlﬂ

74 150 & 30 319G :
7 i T S S TR e TR

& bermmw i FE )

&

g 1
w—

149. 1999 7 Fa W = fot 1 A, W
1997. 1998 Tl 1999 H ww el H

R aivam 1 =1 e wieerm 91?2
(A) 33% (B) 37%
(C) 49% (D) 52%

Iﬁﬂ,ﬂiaﬁiﬁ#m%‘,ﬁﬁrﬁﬁ‘qﬁﬁ
ﬁﬂﬁmmﬂﬂmﬁﬂﬁmﬁaﬁﬁ:ﬁq

ﬂ?ﬂﬁwﬂﬁmﬁ%ﬁ?@
147, Tr 0, O g PR R Mg Q 7F
60 Ha/ e =1 S e | 9 € ST
Pﬁgaﬁmqﬂﬁmﬁﬁﬁﬁmﬂ
nfa | AT WA E | SRER, 39 G A
3 = =1 T A 10 e € 7
(A) s0fie  (B) 48 W/
©) 244fz (D) 44 Ote

148, A =4 B % wv= 465 @ # T W
5 | 5 X A W 10 T HoEl €
i B = R 65 v, ®i Tia & S
£ | 580 ¥ B ¥ W 11 7 "ol €
st A 1 2w 35 fedi, =t i & Sl
k|4 o i ugat ¥ few geg e
a2
(A) 591 B) 4T (C) 3 ¥=(D) 2T

149. ﬁmﬁmﬁm%mﬁ HK
=t 20. 30, 40, 60 Terts, =1 i =
et & | B, 3@ HRE & 9 AR
= T 3iEE T fe e € 7

(A)32 (B)34 ()38 (D)42

150, T T 10 =2 30 fFAr 97 & e
F 44 Rt 9RT ¥ | wew € 1 ag
T 13 9§ 40 Tt oW & s AT
55 THT HW ¥ wg uw o E |
AGIOR, 3§ T fog = # T

e 1 AL a1 ? Ty 3
- T 2t 2
(A) 1995 (B) 1996 (A) 5 TEsUE. (B) 8 TdI.
(C) 1997 (D) 1998 © 15 (D) 13fFEA
TH HE & oy '
CG 2013
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151

R

152.

(B)

Tha uppnnmnty cost -::-f a fa-:mr of

production 38 :
(A) what it earns in its presa:n'.: UsE.

permd
()

the cost of pﬂ;-ducunn

The demand for a product which lS
wanted for itseif is:known as :

{A) Derived D&mand

{B} 1111_-.i.u|3.tr:,r Demaud

" (C) Compatiy Demarid

153,

154.

(D)

155,

156.

- 157.

)

'[D) Direct or Am-:}nhmt}us Demand

T]m Parliamentar}" f::-rm- of
Government in India has been
adopted from the

(A) Armerican Constitution
(B} Russian Constitutjion
(C) British Constitution
(D) Swiss Cnnstltunﬂn

Which of these are e.ssenuals of

democratic system ?
Fl'f:ﬂ and fais elections

Equﬂl:i_f}" of opportumty
Protecticn of rights
All.of the above -

®)
()

“alue added" is equal to
(A) -Outpus minus input - .
(B} ‘Manufacturing pmﬁt

() Gross profit

) Capltal gain

‘V’aiue crf a mmmm:hty expressed 1n
terms of money is catled

(A) Price

(B) Demand

(C) Utlity

(D) Money value

Selling cost is an element of

{A)} Monopolistic Competition
(B) Perfect Competition

(C) Pure Competition

() Moncpoly

CG 2013

what it. can earp in the long |

what it can earmin some other use,

- | PART -IV
.. . .  GENERAL AWARENESS

3%

158.

159,

160,

161.

)

162.

¢ Znforceable by any Court ?

163.

{B) 24”1 Constitutional Amendment
Act 1971 |
ﬂi“d Constitufional Amendmen’t
s Act, 1976
(D) 44" Constitutional Amendment
Act, 1978
Which Article of the Indian

o

Which ancient Tndian kingdom is|-
wrokigly matched belotv with its capital ?
(A} Maurya - Pataliputra

(B) Pandya—Madurai®

(C) Pallava — Vellore

(D} Kakauya Warangal

W]m:h were the twe dynasties, whn:h
ruled immediately before and after £
the Khiljis ? ;
(A) Slawe: and Lodi

(B) Saiyyad and Lodi

(C) Slave and Tughlag
I Tughlaq and Lodi

‘Who among the followiog dld not
participate in the 1857 Revolt against
the British ? |

(A) Tantia Tope

(B) Tipe Sultan

(C) Rant Lakshmi Bad

(D) WNanma Saheh ;5

Whlr:h Amendment Act is n:fe.rrcd as

mini constitution ?

(A) 7% Constitutional Amendment
Act, 1956

Constitution stipulates that Directive
Pnnmples of State Policy shall not be |

(B) Article 33
(D) Article 39 !

Which one of the following
languages is not specified in
Schedule 8 of the Indian Constitstion ?
(AY Sanskrit (B Sindm
{C) English (D) Nepali

005LQ 6

{A) Article31
(C) Article 37




151. Eﬂﬁﬁﬁ?ﬂﬁﬂﬁmﬁﬁﬁwﬁ?ﬂ ﬁmmmﬁwwﬁm
&2 P mﬁ%mnﬁﬁqﬁﬂ?mﬁaﬁﬁh
(A) aﬂ;ﬁﬁqﬁaﬁmm%ﬁﬁ /gj;@m? :
By ;ﬁ'ﬂ? ﬂﬁaﬂﬁl’ﬁﬂﬁiﬂﬂﬁ'ﬂﬁﬁﬁ 4 40) - T B [ OO
(D) HreFART - AROEE 0. -
(C} s T, Fﬂftﬂﬁramﬁwﬁ aiiﬁ?f
g ET - | 159, 2 21 3wt B 9, RreRt faeatt wnaet @
(D} '-a’f‘-‘rﬁ'-‘raﬁﬁmal | ‘ﬂf_ﬂﬁqﬁﬁaﬁ?mﬁmﬁmm? -
152, Rt et 3w Wi Gﬁ‘q‘ﬁ'm#ﬁar{ ;{g ﬁﬁﬁi;ﬂg '
e €, T E & 7 (o aﬁmﬁmw s © il
g;:: e (D) <o A -
(€ St = =i . 160, =5 1 & fogd, mﬁ%ﬁﬁflsﬁ?%
D) v AR Wﬁmﬂﬁmﬂf?
| 153-“‘*%*%%%# o ?zﬁ i
T = - T
{A) mﬁm (B) Fiﬁﬂﬁl‘ﬂﬁ ) I:D'}’ :{H-r-\q-r—ga l: -:'5...'_ i
(€)W (D) e ey = §
mmﬁmﬁﬂﬁﬁqﬁ lﬁl.ﬁmﬁa%qﬂrmﬂﬂ:rmﬁﬁw “figit
.;A/‘ﬁmﬁj | _ Fﬁﬂﬁﬁmm%?
(A) ﬁﬁﬁ‘ﬁﬁmﬁw {A) ?ﬁfﬁiﬁﬂﬁmﬂﬁ# Qﬁﬁﬂﬂ,
®) smwR T - - L los6
(C) i Tegr § g B f;? i mﬁa;r aqﬁ;p,m
E . l - .
o (© 4 e i afetra
155. “aiatiea A e ST & 2 1976
(A) Frfg-a1mm = sy (D} 443 ‘ﬂfﬁ'ﬂﬁ ‘H?ﬁEF[ afiiferan,
(B) fatminam - . 1978 °
. {©) uwwam 162, TR e AT w .
: ® $hmew - ﬁuﬁﬁawwmﬁqqﬁmﬁw
i ﬁ%mﬁaﬁﬁﬁrwwmm mﬁm’fwmm‘aﬁﬁﬂm
| e, T R E 2 '
' . (A) e “(B) W (A) aF=E 31 (B) - 38
/@mﬁlﬁr D) T A .S aliﬁqﬂ @ @TBQ
157, Ferser vy oo w7 ﬂ/?qﬁﬂ ﬁqﬁﬁmﬂw ﬂqﬂaﬁ;fﬁ?ﬁ
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165.

166.

)

167.

(&)

Which of the following soils is most
tdeal for paddy cultivation ?

(A) Laterite soil

(B) Red Soil

Allavial sml

() Black sm]‘ e ne MR T
The red culnur -:Jf red Eﬂﬂ is due to
the rusting of>-
(A} Nitrogen .
B) Humus v
(©) kon
(D) Coppes

Which one of tlie following: rivers. - ©

crosses the equator ! two times 7r !
{A} Cangl:r RIVEI' £ i _-'._j"". ]
(B) *Amazon Rnrer 2 :
(C) NigerRiver
Nile River

Who was the” 'T-:::-uﬂdei" of « the
“Prarthana Samaj” T-* '
(A) Ramakrishna Paramahaﬂsa
¥ (B):= . Swami'Vivekenanda. -
{C) Athmaram Panduranga:;--

. (D) Dﬁ.}fananda Saraswathi

168, -Arran

Arrange --the fﬂ]lﬂwmg hlslnncal
events chronologically - chﬂnsmg the
correct response.; © . - .
I. Freich Revolution. -

I. Glorigus B.@_—}__"_ﬂl_llhﬂ_]]
nl.  American Warof .
* Independence

© T¥.. Russian Révnluﬁiaﬁ

(ay I I
- (B W m- I

20 | C | 2 S b4
_-I‘U.'?.

© o 1 v IO

(yan ;w1 I

169,

The Southemmost Pmnt of India is
{A) CapeCoiornn” =

(B) PointCalimere R

(C) IndiraPoint, . 0. -
(I3}~ Port Blair

- CG 2013

170,

171,

172,

173,

- ‘“‘choosing tﬁE‘EDﬁEﬂtTﬂSpﬂDSE

174.

175.

(c) Egypl
(d) Zimbabwe (iv). Cairg
@ M © (@
&) . i), i) @) )
() Gy @ D
(C) dv) ) Q) G
D) (i) - {11-'} 1
The type of root fcrnned mBete.l 1.51113
(A) Stift Root
+(B).~ Clinging Root .
(C} Climbing Root
(D) PropRoot
Chrismosoines are made up of
(A} DHNA .
. (B) Protein - 7 7 HED
{C) "DNA andPrutam
(D) RNA: — ik

(B

() Rice snd Ground'nut

: Match

Jersey bull used for cross breeding is
an exotic variety from ;
(A)- England |
BY FPrance = | B
. Holland "

Switzéfland

(©
)

Which' of - the=-foltowing .symbiotiq. ;
associations forms a lichen 7 :
(A), An algacanda fungus -
(B) An algae and a beyophyte

(C) A bacterium and a fungus ]
@ A ‘bacterivm ~ and 2k
-~ pymnosperm - - g

5, o

Which one of therfollowing. cropf
mmhiﬁaliun is not adopted in mixeds
(A) Wheakand ,Mustard

{B) Wheat and Chick Ped

{D} Gmumi ot and Sun flower:

currm:ﬂy thn: . following
countries and their capltajs

Country Ciipital .
(1) Argentina  {i) & : Bogota
{b} Colombia (ii) - Hararc

(jii) - Buenos ﬂlre:s ;_.,
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- (A), TR
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165; T JE W @ W, ?-Fa%enéﬂ:r%_

HICTT A7 W & 2
(A) AR
(B) oE

(C) <

@) T

1ﬁﬁ;ﬁnﬂaﬁm¢ﬁqﬁﬁw%@raﬁﬂmé

TEET O
(A) st T
B) aﬁﬁﬁﬂﬁ

(O R |
O Fawd

lﬂ.i*ﬂﬁafwemmwﬁ#aw
(A) TN TR =
B) ﬁrﬁﬁw & B
©(©) FERMEEE. .

(D} TR

168. FiEy Offmids wemal @ fanrqm"-'
wraRed T | R
i Iﬁl?ﬂlﬁ?alﬂﬁr ¥ g
IE. Tﬁ’lﬁﬁﬂﬁlﬁ[ ok wE
I, & &t FFdm aas
Iv. Eﬁtmﬁi .
@A) P I I IV ;
{B) ]];f"' g | ] R IV
(C)y I~ T FV : I -
_(D} AREe] Y

169. ¥R +$ﬁﬁ%ﬂ1ﬁﬁaﬁ{{wmﬁrm
o
{A) ﬁﬂ_ﬂ%ﬁ’fﬁ:r E 59

m i s W dwtw i e
iﬁﬂwﬁﬁwaﬁ’lﬁr%?
(A) T
(B} Wi¥
(C) ws
(D)

11_1.ﬁ:mﬁaﬂ=rmmﬁww aﬁﬁﬁ

Hfm e

(A) THEUENAMEE I
(B) UH U aET T AAERE

€ wiRfEm e E

) Eﬂ?ﬂaﬂﬁqﬂwwﬁm‘mﬂ

_ﬁ’ﬁﬂﬁﬂ?mmaﬁm qE w

ﬁfﬂﬁmﬁﬁsﬁqﬁﬂﬁﬁn—mﬁmﬂ
{A} T et wet .
e vy ferep it -
(C) A aar TRl
(D) qﬂﬁﬁﬂmw

l?s.ﬁﬂ%ﬁaﬁtaaﬁwﬁﬁ%ﬁ%

ST el T TGRS |
¢ @) Ry A
(b) el G wR
(c) Thar (i) W

(@) Frat  (iv) R
: @ M @ . &
(A) D @), (v) - (D
®) @) v @
(©)= v ). @ -G
@) (i) @ - ) - G6i)
1?4.qﬁaﬁaﬂrﬁaq%aﬁfra€. e o gt
' {A} mﬂﬁ?
. (B}, FTIATE.
(C) AW E.
- (D) - BRERER g

175, rE frad T §7
(A) SHRT
(C) S ﬁmﬁﬂ:r
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due to

(A) - Viscosity

(B} Surface tension
(C) Elasticity
(D) Gravitation

-~

1'?’? The penetraﬂng pnwersnf G, ﬁ.;;and
y-radiations, i%_jiecmﬂéigg.grder, are
(A) O Patlf - f A
(B) -; Bior = LEiEs mae
& Bt -
S @y B

Doipe e SESRRT F o4 b ot
178. In MS-Excel, which.of-the follawing
function is used -to find the highest
value within the list 7. ...
(A) COUNT. .

oo

(B) PROPER
(D} Sm e e T e TR

AT % 3 :
179. Daltonism (Protanopia} is.the form of

. eolour blindness in which the patient
- AT o 3 :

cannot see -
{A) | Green' Colour
(B) “Red colous
(C) Blue colour - )
(D) All thie above Cololirs
; T o -
180. The phﬂtn;lecu‘icieffact 5. described
a5 the gjection of:electrofis fromt the
. gurfageof ametal when, .. .
(A) “Itisheated. = S e ©
(B) It is placed in strong eletine

field, T
(C) Elecirons of suitable velocity
. impingeonif’ =7 ;
(D) Light of suitable ~wavelength
falls on it. g iy W s
181. X-rays are “waves. ©
" (A) longitudinal g

. (B} ({ranswverse: .
() electromagnetic -
. (@), elashc

L

) L
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176, Thﬂshapqﬂf_ aram, d :ﬁp'-__i:gl;.sphéﬂcal

36

182

183.

1845

185.

186, W —
" prografh, the program is held in

187

“Aleohol -

(B) Specific heat }
- (C) Atomic weight ‘

The three basic components of 3
atom are ,

(A) protons, neutrons and ions
(B) protons, RENrons and elecirom
(C) protium, deuteringn and tritiu
(D} protons, peutritosand ions -

obiained * in
saponification process is

(A) " Ethyl alcobol

(B) Methyt alechol

(C} Wood spirit

@) Glycerol

The praduct of equivalent weight-as

valency of an element is equal. 10.
(A) Vapour density

(D) Molecular weight

Chlorofluro,carbons are widely used
(A) Micro ovens 5
(B} Solar heaters

(C) Washing machines

(D) Refrigerators

While the computer exccutes

(A) RAM

B) ROM

(Cy Hard Disk
(D) Floppy Disk

A hybrid computer is the one havi
the combined properties of

(A) Super and-micro computers
(B} Mini and micro GOMputers
(C) Analog and digital computer

DY ,.ﬂuljﬁf‘aﬂd‘lﬂjﬂi compoters -

188.

“Tritium is an isotope ofz

(A) Oxygen
(B) Hydrogen -
(C) Phosphoreus
(D) * Nitrogen
| - 0051




/yf mwrﬂam%&m
{A} FIFF:H e
{B] : Egﬁaﬁ i _'f__' i 1
(C) . el ¥
.ﬂgj/w : 1 I.l“'-..j

177. a,ﬁﬁm"fa%ﬁmmmﬁmﬂﬁ

wﬁ%ﬁmﬁﬁﬁ%ﬂ 1
A BT
B) ¥, ﬁ.f;'-' k:
C) By
D) Yo P

178, MS-E T, ﬁﬂﬁrﬂﬁﬂmﬂﬂﬂ& a;ﬁ

ﬂ;aﬁﬁﬁaﬁﬁﬂﬂﬁtﬂﬂﬁﬂﬁ%fm--
u'g,aﬁﬁmﬁrm%? -

(A) TRE - -

(B) W

U

179. %m—ﬂﬁﬁ? {g’iﬁﬁﬁl} . A
- FuieEr & aﬁzﬁraﬁﬂmfmqﬁ%ﬁ
“umr?
(A) ﬁn:rr
(B) w4
(C) =en
@) . TR

180. wergL-ferep T, ﬂq%w%m
- ﬁﬁzﬁl’”ﬁéﬁﬂﬂlﬁ%ﬁwmmﬁ
e e s
Ay FTEHIE N - S
B) 59 mmfﬂ@é‘ammﬁﬁrml
()] wgﬁﬁw%ﬁﬂﬁﬁmm|
{D) g;{r,ﬁﬁm%%ﬂ ﬁmzﬂq‘r
| |

: m%ﬁﬂmmﬁwa?ﬁﬁﬁ?_
RVNRR L s S
ﬁ}’n’lﬁq =g O SR

(C) ﬁmﬁfiﬁmaﬂrgﬁm

(D) TR =g aer AR

183, Wmﬁmﬁmﬁﬁ%ﬁ%m
/'""aaram

" 188, ﬂﬂﬁﬂ TEA, ST TR 8

| s %’ﬁ%mﬂ%mﬁmmm‘%

. ﬁﬂmmmmm%?

(7. Bl T e A AL R
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189, Who won the Wﬂmen F::en{:h C}pen; .
= Tide in 2'313 R

(A) Mana Shan-lguvaﬁ
B) Victoria &zarankg_ .
(C) Sere:na Williams

o ..T-"-.-

(DJ ‘Venvus Williams' LA
_ I90. Which. of the: ﬁ}]ltlwmg *plaﬂsag of

Sikh rel:gmus Béritdpe i nﬁ'?m Indiz ?

(A) Nankana Sahfb bk

{B) Nanded s I

{3 Paopta Sahib . e e

(D). -Keshgarh Sahih ------

191. Thie headquarters nf wl':m.:h ﬂl]E- ﬂf the

following Organizations -is mot in
Geneva 7

(A) Food and ﬁgﬂr::ultural
Grganisatiod -~ - 7.0

(B} World Metenrﬁlngical
_Drgamsauunm S

(C) World Health Ofgariisaticn ;

(D) WﬂrldTrade Brgﬁﬁighhn“ag

|.-|d|—l-r--|_ o

l.-d,_T 'hi:

192. Tn*which, E{:n-system Grassland 15

-mcluded ?:
(AJ Marine (H) Fresh water
(C) Terrestrial @), Art:fimal

193, ‘The main pnlplmnt Iﬂﬂp&nmht —_
. BhﬁpﬂlGﬂSnged} is i |
- (A) “Methyli Eﬂcﬁ'anarﬂr

(B) Bromife = ¢ -
(C) *Chloroflurd ¢affon:

D) “Cﬁlmﬁe P S g

==

F':H:L IR

194, Presenﬂ;r the .‘Umﬁn E{:mster of
Minority Affairsis e R

(A)* Dr. Farcog Abdullal .-

(B) Ghulam Nabi Azad.~ 5,

(©) K.RohmanKhan =~ - -,

(D) Salman Khurshid -

195 Whmh cnuntry has heen’ qdmztted
July 2013 as the 28™ member of

Eurcpean Union 7

(A) Bulgaria  %B) "Croasia
{C) Cyprus iDj anamm
196. Which ope of the fnilﬂng
wrongly paired 2 - - |
Sports. . Ground |

(A) Athletics - -  Trpck -
(B) BaseBall —. - Conrt

(C) Golf - HCourse
(D)} Wrestling - Ring ¥

197, Which American President was [
.. famons ﬁlmﬂ‘ V.. star before h

. became tﬁa”f’resadeut? R -
- (AVTE Keiitedy
(B) GeraldR: Fﬂﬂd
(C) Richard Nixon -
(D} Ronald Regan - - 3 '-i.-

198. Which one of the fc}llqwmg museurmsily
in India and its location is wrnngi

-

Fmattheai-? f"r LR -
‘(A) National <+ = New Be.lhl
Rﬂllw-ﬁ}f a :__:;_:.:":
Museum T T

(B) The Calico - Mumbai~ 5
Museum L o g

of Textiles S

(C) Salar Jung ~ “Hyderabad
R MI.ISEHIIJ, T T () ;i
' {D} Nﬂplﬂf R 17{&”@%&@ "‘

- Musenm,_ .

199 Which one of the: fﬂﬂ‘ﬁ'ﬁhﬁg Emupeau 5
- ‘Wnlon confitriesshas its-own aurrency §
b “andhaamt:ﬁmmhad aVer to Euro ?

o 'if"f?:':!i It

.1.%: 2t ,-.:-_t. ‘I' L S A

~{A). ~France -z .. - BseGermany. B 3
(C) Sweden ()] Spain i
=
200, The glﬁn%ﬂi gnedemw ‘Hindi, i 4
Literature is Sz Fa
" (A) Srinivas Das =
(B} Munshi Premchand

L =

(C) Devaki Nandbh Khatri
(D) Bharatendu Hmfsﬂshandm

. .._l.'m,.--hII ~ - CaTh
Bt i1
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